USER GUIDE

18-Y-001







INTRODUCTION

These instructions are provided for your safety. Please read them carefully before commencing.

IMPORTANT SAFETY INFORMATON

- Due to small parts keep children clear during assembly.

- Carefully layout all the parts on a clean, flat surface and compare with the parts checklist.

- Please retain all packaging until you are sure no parts are missing, then once you are satisfied with
the product please dispose of all packaging responsibly.

- During assembly take care not to overtighten the bolts.

- When positioning your furniture ensure the ground is firm, level and dry.

- Take care when handling or moving furniture. Always lift with assistance to avoid damaging your
product and maintain personal safety.

- Do not stand, jump or climb on the seat.

- Do not sit, stand or climb on the table.

* Ensure all fittings are fully tightened before use and checked regularly and re-tightened as
necessary.

FIXINGS LIST

AA QD

M8*55

BB

M8*30

CC Om

M8*15

DD o—mmm

M6*60

DN | | DD

M8

—_
(N}

FF

M6

GG

M8

HH

M6

IT

JJ

M8

KK

M6

LL

M8

E 1 MM

M6

Fle e|e|c| el & e

NN

00 =

PP —

QQ g

RR —

SS %

— = (N === || OO~ O o= |







A x1

Bxl1

BB x 4

CC x 2

EE x 10

GG x 4

II x 6

JJ x 6

LL x 4

PP x 1

RR x 1

SS x 1







RR x 1

SS x 1

MM)(HH) (FE) (NN) (FF) (DD) (KK










CARE INSTRUCTIONS

Chair Frame: Clean with a clean dry soft cloth, do not use any harsh abrasives.
Cushion: Follow the instructions on the sewn on label.

Imported by EU authorised representative
PL Ltd PL Europe
HD3 4D, UK 29660, Spain

QC@pacific-lifestyle.co.uk sales@pacific-lifestyle.es



	1
	2
	3
	4
	5
	6
	7
	8
	9



